EARAROBEEIERT — 2 N— IBISH —F

20195F9A10H () 13m£R2H

mﬂﬁ% 3m A4 (xwlw | mEmml - v 5 o 8
[A&4] 1 % :300,000 @ ~ 237 :69,000 M 3% :36,00H  437%:27,000 " 5 #&:18,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N EHRE :33. -4-3- . — 1R (29R)
gl zmcturs i 3 55 1(3_3)0 4-4-3-2 | 40.6 5 ;1+326) S
RiTUN BiEAF TN HFASZREy K
_ # 3 | EFTR 1:33.5 21-1-1 (417 — | 2 | 535 | IR (&R
2 101 J)b7 A53.0 (2 1/2) (+16) (B) EEHBE®=E
L:T—T 74— B:ELYXT14T b hnEE =R
N BLRTE . o o _ JIIZRBABA (£3R)
3lgliol P=E=zPL—+ i3 Euw 1.(3233.9 8-8-8-7 | 40.5 7 (4_633) Rl
R:b—traL>Zx B:b—t>9—/ BREHM IXF1T77—L4
o3 S # 3 | BREAR 1:34.0 5-7-5-4 |41.0| — | 3 | 426 |R@HE (£R)
4fq) 9| ¥aFNNNR—F 56.0 (3/4) o | @ J PN
L:T7LIANIVE B:v -1y ia itd  BARR
3 2aros i3 | EEBRE 1:34.0 7-5-6-5 |40.8| — 9 406 | DOEEFNE (£9R)
sfe6|¥av/EYax 54.0 (\F) w2 | @ 77— rEvar
LNMVT S BidvAr b ay I #Z
o PN BEEHBAR :34. -9-9- . — £H—8 (£R)
65l 5 E—gY S H— 4 3 ke 1(13/42)1 10-9-9-6 | 40.4 4 (4+528) e
RIRKET—INYF— BFATHFIT— FATLANITT
o > 3 | FEAMA 1:34.3 9-10-10-8 | 40.1| — 10 | 494 |MNEERNE (£3R)
77| 8| VT RN=TI 77 60 ) Gy | W) 77— bEvar
:d—=IRT7Ya—b BT end > G-
. N N hBEEH : -3-2- — aiske (£R)
8 1y xEY i 3 i 1.(324).7 2-3-2-3 | 42.7 1 <4+317) oL e
R:AX—b+77)a> B:STILE— FIR=WF T T — s
N s TR A :35. -11-11- . — A= (2R)
9 9 LS aLEE—F % 3 R (12315/22) 11-11-11-11] 39.8 1 (4_020) it
RigZ/¥LLy b BIUa1dvT SR g
o _ shEg® .35 o 7 . — JIZRBARA (£3R)
10 4 N—FT 44 —=T=%) 9 56?0 (11315/24) 6679 | 421 6 (4_610) HEES
L:O—X¥x>J8L B:X4237JL14X pinEzae ]
. = : -2-4- - FlIHZ (£R)
1 e ST =E eI i 3 o (23:?% 1-2-4-10 | 46.2 8 12;2 B
iECTAYY BIUACINFvF v Bl 1#
@ 1 — S —EBlIEf
13—3+— 3,(1,7),11,9,4,6,10,8,5,2
2=1—F— 1,3,7,11,6,4,9,10,5,8,2
Gal=5r= 1,7,11,3,9,6,4,10,5,8,2
40—+ — 1,11,7,9,6,5,10,8,4,3,2
[ N3
B OB 1 1,210 714K 1-11 920M % E 1-8 2,080 3EHE 1-10-11 15,800M
8 B i 320H 10-11 1,530H B 8-1 6,360M K31 11-1-10 75,090
1 290M 1-10 2,420 B E -1 3,830
10 800H B H 11-1 7,600

ABICOVWTRDTEEERROODE. TR LIV,




